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JIIE 432 K4 FEHIZI—X ouT IN GROSS
1 FlE £a L=YLA9EIR 34 36 70
2T BB K y—b-BFITY 32 40 72
2T AR &= FELHIY 37 35 72
4T FiE RE Y—b T ARE— 37 38 75
4T hE =X FELHIY 40 35 75
6T MM thaE I\FR 39 37 76
6T KE IENf EE 37 39 76
6T T L=YLA9EIR 38 38 76
6T ZHHMR E I\FR 37 39 76
6T ITEE N iR R 39 37 76
1T Fra Bz R - TR 36 41 77
1T Fi EZEX INTFR 39 38 77
1T HO R HEZ 37 40 77
1T IEH —& JI\FH 37 40 77
1T fEiE i oEZ 40 37 77
11T BH EA INFR 35 42 77
1T EX F0E FELHOY 40 37 77
18T £ BEE L=-yL19THIR 37 41 78
18T EX HiE FELHOY 39 39 78
18T EAX IR T ARG— 36 42 78
18T i5F #Bx FELHOY 35 43 78
18T =% E& L=yL1HTHIR 37 41 78
18T il FIRk FELHOY 37 41 78
24T = B L-JV1)EE5E 41 38 79
24T /R &2 L-YL19ER 42 37 79
24T Hig #& R &R 41 38 79
24T B3 RN HhR-hR 39 40 79
24T =248 _#E- IRV 37 42 79
29T HKHEH K FELHOY 43 37 80
29T A (At oEZ 39 41 80
20T =EE B2 L=y 19h]R 38 42 80
29T INR BEHE L=yU1HIR 38 42 80
29T HA S L=yU1HR 40 40 80
29T e B FELHIY 38 42 80
29T PEE MR y—b-BHT7Y 42 38 80
29T A =17 FELHOY 40 40 80
29T k5 & BEZ 39 41 80
29T Eg & FELHOY 40 40 80
39T Hok ##h hlR-HhR 40 41 81
39T ERKR B— J\FHR 43 38 81
39T EEH B INFR 40 41 81
39T ZE EX oEZ 40 41 81
39T T8 @ FELHOY 40 41 81
39T AR BT hmig-HhE 37 44 81
39T HzI F— IR 43 38 81
39T EHHMR H J\F 42 39 81
39T NI BR J\FHR 42 39 81
39T /AR HE— hE-Th&E 38 43 81
39T £E I\ TFH 39 42 81
50T BK s T AR4— 43 39 82
50T 2E KB JINFH 41 41 82
50T Al E— Il 42 40 82
50T NHE HB§ FELHIY 42 40 82
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50T R JT L=YL19%IR 44 38 82
50T =ZF EF T ARs— 38 44 82
50T Heh & T ARs— 40 42 82
50T A R L-YU1HER 37 45 82
50T =TT L=YL19%IR 42 40 82
59T B FELHIY 41 42 83
59T KE EX INTFR 42 41 83
59T BTH xt— I\FR 42 41 83
59T Th & JI\FH 42 41 83
59T BH EH FELHOY 41 42 83
59T A X oEZ 42 41 83
59T L% B L=V EE 40 43 83
59T B8 BB migR-HhE 42 41 83
59T =i fEkX L=yL{9ThIR 43 40 83
59T F2 BFE I\FR 38 45 83
59T WH E£ L-Y1HEEE 41 42 83
59T £k BEAH T ARs— 40 43 83
71T KHEH BT g & 42 42 84
T A &t EE 44 40 84
1T =28 MR FELHOY 40 44 84
T &K B L=yL1yth]R 40 44 84
T A EAER FEELHIY 40 44 84
71T =2 & hR-HhE 41 43 84
71T R FE A=Y Y% 44 40 84
T BiE FEELHIY 44 40 84
71T i B L=yL1yth]R 43 41 84
80T 4 M5B FEELHAIY 40 45 85
80T NS X T AA8— 42 43 85
80T =L EZ R -HhR 43 42 85
80T INEF SEah L=-YL19%IR 41 44 85
80T DE:TA T AA8— 40 45 85
80T Rin BiE INFR 41 44 85
80T R RE L=y R 43 42 85
80T 2 NE JI\FHR 42 43 85
80T NI BEE JI\FHR 39 46 85
89T L FTER BEE 42 44 86
89T S K FELHIY 41 45 86
89T L5 & L=V Y% 44 42 86
89T =28 BHE L=y 1yh]R 43 43 86
89T KL M- L=V Y% 40 46 86
89T x % T AR4— 45 41 86
89T #Z Btk L=y 19h]R 41 45 86
89T my f#EX FELHOY 41 45 86
89T 0O #Hw3t FELHIY 40 46 86
89T =2 K& FELHIY 41 45 86
89T EF E— J\F 41 45 86
89T Xe ER L=-YU1HR 40 46 86
89T fEik HE bEiz - EEE 43 43 86
89T BE &iE TARS— 42 44 86
89T FIE RE L=-YU1)R 45 41 86
104T AZE B oEZ 42 45 87
104T A L=y Y% 47 40 87
104T A = FELHOY 45 42 87
104T FH Y& hlR-HhR 42 45 87
104T £F & L=y {)HE 44 43 87
104T IBE ZR5h INFH 41 46 87
104T R FE oEE 42 45 87
104T 2K E— J\FR 42 45 87
104T & ki hlR-Hh&E 42 45 87
104T ItH = JI\FHR 43 44 87
114T =B % hE-Th&E 42 46 88
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114T e B T AR8— 44 44 88
114T Fih &Hih L=yL19HIR 46 42 88
114T BH —8k JI\FH 46 42 88
114T R =8 I\FR 42 46 88
114T W BEAl J\FR 42 46 88
114T ;R f& R -HER 43 45 88
114T =H = L=V EHE 38 50 88
114T Win Z18 FELHOY 40 48 88
114T Bf R I\VFR 46 42 88
114T HE TE oEZ 42 46 88
125T TIE B g & 41 48 89
125T fH E&H FELHIY 41 48 89
125T I Fi JI\FH 43 46 89
125T EiE N FELHOY 46 43 89
125T FH EE g R 42 47 89
125T ik FE T ARs— 45 44 89
125T iE ik IDIL il 45 44 89
125T BHE FE oEZ 44 45 89
125T EX & I\FHR 42 47 89
125T 2K & T ARE— 46 43 89
125T BRI ML JINTFHK 45 44 89
136T = ¥ 1 hR-Th& 41 49 90
136T =28 8 L-YL1hER 43 47 90
136T AL #th TARE— 44 46 90
136T A HE— L=-YL19%IR 43 47 90
136T BR HH L-yL1hHhR 47 43 90
136T Ei5 M@ oEZ 44 46 90
142T KZE IEfE L=-yL19THIR 44 47 91
1427 WA Rl R -HhR 41 50 91
1427 =N BB FEELHAIY 43 48 91
1427 HBE & TARE— 44 47 91
1427 FW = TARE— 45 46 91
1427 Bix FH - | 44 47 91
1427 =H &fF L=yL{9HIR 45 46 91
149T EH ks JI\FHR 46 46 92
149T IR R R -H&E 48 44 92
149T o E FELHIY 45 47 92
149T e (S8 L=yU1HR 48 44 92
149T LRSS T ARS— 45 47 92
149T E 5hi# INFH 43 49 92
155T AR this T AA8— 43 50 93
155T BH S L=y R 44 49 93
157T AN 34 L-JV1)EEE 45 49 94
157T E2H = R -Hh&R 48 46 94
157T e C= TARS— 50 44 94
157T BH ik INTFH 46 48 94
161T FET BE IR 47 48 95
161T FAK 5 hlR-HhR 50 45 95
161T H5HF R INTFHK 50 45 95
161T PR FEil T AR4— 47 48 95
161T BE = J\F 46 49 95
166 CEEED R -HhR 50 46 96
167 ZE BE— oEZ 45 52 97
168T = hlR-HhR 50 48 98
168T 20 BE®e IR 50 48 98
168T o &EiE INTFH 51 47 98
171T AKX RZE FELHOY 49 50 99
171T BH = JINFH 45 54 99
173 ENE = FELHIY 60 40 100
ZiE ik HE L=y 1yHR - - -
ZiE N B FELHOY - - -
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